- VALVE ELECTRON!CCV ‘7‘8

GENERAL POST OFFICE: E-IN-C (VW)

(POVT 170)
Specifization: GeP.0./CV1718/Issue 1 SECURITY
Dateid: 11.4.47 peci fication Valvs
To be read in confunction with K 101 Restricted Restricted
~~ . indicawes 4ocoange
1vEz OF vawve: Triode-pentode MARKING
CATHOLE: Indircotly heated - See K1001/4
I Vetallised glass
ANVELOFS: ° » PASE
PRCTOTYPE AC/TP British 9-pin (B9)
RATING CONNEXI QNS
Note| Pin Electrode
Heater voltage W) 4.0 1 Screen grid
Nominal heater current (a) 1.25 g gentgg:s(a;odei a
Max. anode voltage (pentode) (V)| 250.0 4 szer gr
Max. anode voltage (triods) (V)| 200.0 5 Heater
Max. soreen voltage (V)] 250.0 6 Cathode
Max. conversion conductance, (mA/V) 0.9 7 Triode anode
Mutual conductance (triode) (ma/NV) 1.4 A g ;riog;i grid
Mutual conductance (pentode) (mA/NV) 3.4 B .G P:n:odesur)fd
Peak oscillator grid voltage (V)| . 3.0 oo &
TQP- CAP
See K100 D5.1
NOMINAL CAPACITANCES (pF) o Klool/a/
DIMENSIONS
Pentode- Triode See K1001/A1/D1
Ceg 0.08 2.5 Dimension Min. | Max.
0 . 4.0 -
Cae 8.0 80 T ) - ™
Cge 7.75 . B (rum) - 50
This valve type is cbsolete NOTES
and this specification is A. Measured with Va = 100, and Vgl = O
for record purposes only. B, leasured with Va = 250, Vg2 = 200,
Vg3 = 0, and Vgl = O

Rota 13548 S/ug




cvI7I8

Page 2
TESTS age
To be performed in addition to those applicable in K1001
TEST CONDITIONS TEST LIAITS )
No.

Vh(V)| Va |Vgl Vg2 | Vg3 Vao { Vgo Min. | Max, | Tested] Not
(a)] 40| =~ - - - - - Ih (A} 1.17| 1.43| 1w00%8| 1
(b)| 4.0 - - - - 200 |Note 2|Ia (mA) 8.5 - 100% | 1,2
(¢)] 4.0| 250 | -2 200 0 - - |Reverse Ig(ph) - |0.75| 100%| 1
(d)] 4.0| 250 | =2 200 O - - |Ia (mA) 8.7 ] 19.3| 100%| 1
(e)] 4.0 250 | -1 | 200 0 - - |em (mA/M)2.5 | = 1004 | 1
(£)| 4.0] 250 |-29,5| 2¢O 0 - ~ |gm (M)e.o 47.0| 1008 | 1
e 40| - | - | - - | 214 [adgust| p 30.0 | 40.0| 100% | 1,3

" , 4
NOTES

1. Before commencing the tests the valve shall be pre-heated for 10 minutes,

with heater-voltage adjusted to 4 volts -

2, Vgo varied by 48 volts from velue required to give Iao = 3 mA.

3., Vgo adjusted to give Iao = 3 mA,




